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Lap splice hooks in

alternate corner (typical)
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(a) 4 Bars.

Note: ties shown dashed in (b} (c) and (d)
may be omitted if x < & in.
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(c) 8 Bars (d) 8 bars

(e} 12 Bars (f) 12 Bars (g) 12 Bars

Typical tie arrangements.

CEERRELS




il
0

M1

ol

1
Rl

...... : ' I( ) 1- 1 !
-———Ef‘w_%r wm....uwﬁ.m.?t
/ff/u AT ..w‘i? 7 :

4. .’ 5«6& a\u\?,kﬂ Q

-

e ey ——




(1) 20 =513 e s
@ =0 SASols0| 582 [

P,=0.85f (A~ A+, Ay
Ag j|60| I—| Cl-D:I I—I
Ay P B3O HEoIH

0.85f, : RIIGt=0| st 232|E 2EH2

¢ 2 %"‘OHA-lE:— Hy &
200 B 5 )
$P,=0.85[0.85f (A,
=0 [0 F2f (A AT
& L= Ji=
dP,=00.80[0.85f (A,;~Ag)+f,Aq ]
=p[0.68f, (A,~Ay)+0.80f Ay ]

oﬁ oo

I
>

st) +fyAst ]
85f,Ay ]

)




‘
|

=7 e

(a)

il
H

7
KI0
LH
il

KiT

e

= H

&

agPn>Pu

M2ZH =+ e=0.7" 0.9

G
<
!
LO
S
o
I
S

V4

(L&D =)



)
Ar

el

—he

<0

= 0.003

€y

d Elew ke

JI&)oT A< Al
H_c _H_n_ :_.o |__|_ __o._
weN ==
E_EEEE
m_aﬁ[cae._
o] _ij_.
[H o
ﬂm =0 =

a%gmg

KT

K= wlzuonxs ™

Lo

E —:;52'94 o

o=
==
-

y

ol U<k~ MKJ
E___O H_._.__Il_l__o

4 I_|E_¢om.__.:._

__OEMUI icH o
7o) B e KT 0 ><

o___A:IADD_P

u I
- .__n_ - _.lt 1O
wreant=

o

K mMslo il ~ O

e



sl =

b Al AR A 4

...............

................

o
e
R




(c) Z2& M2 A= b

% 0.1f,A /0.7 =

() &2 )=
e Pl o ol
J;I—O DI—OE 6|.D:|
PhzPa 2 g =07
| i ¢ =0.9-0.2Pn/Pa

F

Po<RPa &
(i) LI EZ2 DS
@ P.E HEANES B2 =51E P, 0.1f,A,/0.75
A2 i 5 G :

Pn=Pa & [ e =0.75
Pn<Pa & [H e =0.9-0.15Pn/Pa




400 MPa

f,

fa = 27 MPa,

\
Bl B =
X X 5 N o e e e e e e
+ “2NF |-
A -
> N g=s== ///
§2
P N
7. e/ < m \x pa P
= ] P - =) /
= 2 1A
u, b " S K- J/\ \\
S L 5 = "
e i e - - L ~ V_
..... Z = S MR 5
= /4 \\ s - ) 1 = | o U
A P 2 \L4 o o e S A N 2
< -1 = N -
. g . ] < A AN A Y
. s A T AT A i — =
¢ 4 < A P b I
p 8 LA 4 a AA -1 11— e o =
%Q U Voo 1= > AN N NN ~T
-l \\\ — “ \!\ \\ = I 1
= > - I NN -
o = = SZ # - NN =
> Z > A TN =
- t A A1 P 1 1\ R
% ] = =
NQ A =i |~ % \.\ ”
- =
o2 > e P 2 == =1 = ==
A K A ~ — . =
- L s 2= P % e /V//r -
4.4 A A Z] A AN A ol <t 0 ol I ~ ]
| A \a\.\\\\\. > > ANV 1A = 1 P4 1A — - =
< “\\ \\U\\ v i \\VU \\T“\ -1 1A v\A \,M H/lﬁJ ==
- = = =
A \\\ - Lr.e s e = —=3 < N =N
B A4 Z P - e = = P~
NQH >4 AL v A - ) e i o ~ N =
Im q/of A PRSP A =
4 1 ] ]
it " SOPPIOPP zaese BT e A NN
o0 Il [ (L L2 g 1 AN B
> (S & . % 5
. > © Y 1 - - o~
(= = (=] = 1 R N
N A
= =) = N i 1] ~
< < = i < = .
. . — B
T & %
==
i 1 =
S n o n
o
(3p] N N — — ke

(BdIN) yaq/"g

wd
Ar
o

<0

10

- ¢/bh* (MPa)

Py



Maus 22X
-
AQUC HA: GHEHSE DS = P, FDUE M,
v P
JIE3D| IHE 4, = “ 0=A_/A =0.01~0.02
0.45(f, + ’ o 0
l Ve T4, (A H1:0.02~0.04)
AR 20 98t H2H 22X : :
: 2= P /bh, J}2% M /bh? 0] BtLI= &
i
=2y 2




